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Practice Problems 

You are given point a = [2 3]T and point b = [1 5]T 

 

Write an implicit equation for the line passing through a and b.  

Try to do this without referring back to your notes or the slides 

(derive it from scratch as you would in an exam). 

 

Write a parametric equation for this same line.  Again, try not to 

refer to your notes until you have to. 

 

Find a normal for this line.  (It does not have to be a unit 

magnitude normal.) 



Practice Problems 

Find an intersection between the line ab on the previous slide 

and a circle of radius r centered at point c.   Plug in some 

numbers for r and c to check your answer.    Hint:  you may 

wish to use the implicit equation for a circle and the parametric 

equation for the line.  Plug your parametric line equation for line 

ab into the implicit circle equation and solve for the free 

parameter.  You will use the 3D version of this technique in your 

ray tracer. 

 

Draw a triangle abc.   Where do you think a point with 

barycentric coordinates [0.1  0.3  0.6]  would fall?    

Barycentric coordinates [0.5  0.0  0.5]?    

Barycentric coordinates [-0.3  0.5  0.8]? 


